IS gdten worHl

\‘ National Testing Agency

Test Date : 11 sep 2022 Test Slot : siot1

\Subject : PGQP31-Food Science and Technology

Sl. No.1
QBID:1007451

Identify the correct preposition to make a meaningful sentence.

Radha left Amsterdam two days .
(1) after (2} ago

(3) since (4) between

(1)
(2)
(3)
(4)

A W N =

T, §, ¥ A1 HE H0 H A 87

(1) == (2) 399 TIE
(3) = Em (4) d==
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42501]
2[Option ID=42502]
3[Option ID=42503]
4[Option ID=42504]

Sl. No.2
QBID:1007452

Identify the meaning of the underlined idiom from the options given.

After his mother's death. Raja was at a loss to know what to do.
(1) careful (2) confused
(3) unsable to decide (4) distracted

(1)
(2)
(3)
(4)

A W N =




T1-1 % =y g=1-11 1 fgam i .

oI Ti-11
(A) FF A I Ei RS A Ag aa () e

(B) fz Freft w=g & 700 wem 56 A1 A F@E| (1) Fam

(C) TMIEE Tegl § Farm (II) ===
(D) TF9F ° WONGF sH | FeArEa (IV) I=-=1=

e o mu el § ® w3 1 =9 fifeu
(1) (A)-(IT). (B)-(IID. (C)-(I}. (D)-(IV)
(2) (A)-(IV), (B)-(II), (C)-(I1I), (D)-(I)
(3 (A)-(IIT). (B)«(I). (C)-(IV). (D)«(1I)
(4) (A)-(T}, (B)-(IV), (C)-(II), (D)-(1LT)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42505]
2[Option ID=42506]
3[Option ID=42507]
4[Option ID=42508]

Sl. No.3
QBID:1007453

Choose the correct option to make a meaningful sentence.

Yesterday. I to buy clothes from the Spark Mall.
(1) go (2) are going
(3) gone (4) went
1) 1
(2) 2
(3) 3
4) 4

FrefeafEs 5 5 =6 =1 9= o8 o T E v

(1) T=HT=F @) 38

(3)  WiEERE (4) EEmR
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=42509]
2[Option ID=42510]
3[Option ID=42511]
4[Option ID=42512]

Sl. No.4
QBID:1007454




Identify antonym for the underlined word in the sentence.

Rohan's heroic act saved many lives.
(1) miserly (2) quiet

(3) chivalrous (4) coward

(1)
(2)
(3)
(4)

H W N =

T1-1 % @1y gei-11 =1 foem i

-1 =111
(A) A (1) Hay Fo
(B) TEE= I =z
(C) ==5umz (III) =it A1
(D) AR (IV) H9=M Tcq%d

|

= f2u mu fepeai § O oF I = it .

(1) (A)-(IV), (B)-(II), (C)-(I1I), (D)-(I)
(2) (A)-(T), (B)-(III), (C)-(II), (D)-(IV)
(3 (A)-(IT). (B)-(I). (C)-(IV). (D)-(IIT)
(4) (A)-(II1). (B)-(IV). (C)-(T). (D)-(IT)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42513]
2[Option ID=42514]
3[Option ID=42515]
4[Option ID=42516]

Sl. No.5
QBID:1007455

Find correctly spelt word from the option given.

(1) Restorent (2) Tolerent
(3) Consistent (4) Excultent

(1)
(2)
(3)
(4)

H W N =




FefEfEd § O =3 @ 3921 919F a9 27

(1)
(3

(1) 1
(2) 2
(3) 3
(4) 4

9% 7 T fomn 21 (2) T ™ T foa T 2
T o ferd ama | (4) T A e

1[Option ID=42517]
2[Option ID=42518]
3[Option ID=42519]
4[Option ID=42520]

Sl. No.6

QBID:1007456

Identify the correct passive voice for the sentence given below :

The government has launched the Swachta Abhivan Programme in India.

(1) The Swachta Abhivan Programme is launched by the Government in India
(2) The Swachta Abhiyan Programme was launched by the Government in India
(3) The Swachta Abhivan Programme has been launched by the Government in India
(4) The Swachta Abhivan Programme had been launched by the Government in India
(1) 1
(2) 2
(3) 3
4) 4
frefafas ¥ ¥ 1g T T
(&)  vF fag i o g = W @
(B) 9 Wl FH |
(C)  dqver famr 511 S 31 2
(D) T A FE FA

Fi9 fau wu faeal § @ ®wF I F1 =299 HIA

(1)
i(3)

(1) 1
(2) 2
(3) 3
(4) 4

4 (A) 37 (C) (2) a= (B) 3 (D)
#Fae (C) #H (D) (4) Fa4 (A) 37 (D)

1[Option ID=42521]
2[Option ID=42522]
3[Option ID=42523]
4[Option ID=42524]

Sl. No.7




QBID:1007457
Identifv the correct indirect speech for the sentence given helow.

Rhea asked. “Did vou watch the movie in theatre last night?”

(1) Rhea asked me whether I saw the movie 1n theatre last night.
(2) Rhea asked me whether I had seen the movie in theatre last night.
(3 Ehea asked me whether I had seen the movie in theatre earlier night.
(4) Ehea asked me did I see the movie in theatre earlier night.

(1) 1

(2) 2

(3) 3

(4) 4

fr=fafaa = 58 79 5 @ -

(A)  FEfAw amwor wegt 7 s
(B)  =FFE T== A7 94 =61 A
(C)  =amE1 v491a =t 2

(D)  HArEHITH Hell § Hal 12 =94
(E) dicd ¥H 4 ©

F= 5 mu faew 9 ¥ 9E I F1 994 i
(1) (B). (E). (D). (A). (C)
(2) (D). (A). (C), (B). (E)
(3) (B). (E), (A). (D). (C)
(4) (D). (&), (E). (B). (C)

1)1
(2) 2
3) 3
(4) 4

1[Option ID=42525]
2[Option ID=42526]
3[Option ID=42527]
4[Option ID=42528]

Sl. No.8
QBID:1007458




Match List I with List IT

List-1 (Word) List-IT (Antonym)
A Antique I Approval
B Antipathy I Charge
C. Absolve 1L Native
D. Alien V. Vogue

Choose the correct answer from the option given below:

(1) AT B-IV,C-I.D-IT
(2) A.IB-IICIII D-IV
(3) AT B-TIT.C-IV.D-I
(4) A IVB-1C-II.D-IIT
(1) 1
(2) 2
(3) 3
(4) 4

gE1-1 % =y g1 =1 foem i

-1 TEH-II
(A) I TeeEFa 9=0g 8 T A O T=ygm
(B) WES § T T (II) Z#=r
(C) &% W FH F el (ITT) eaea
D =@EHEA (IV) vam

2 o mu fae O O wE I T 99 Filan
(1) (A)-(I0). (B)-(IIL). (C)~(I). (D)-(IV)
(2) (A)-(D), (Bi-(ID), (C)-(IV), (DH-(I1IT)
(3) (A)-(IV). (B)-(I). (C)-(III), (D)-(ID
(4 (A)-(IIL. (B)-(IV), (C)-(IL). (D)-(D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42529]
2[Option ID=42530]
3[Option ID=42531]
4[Option ID=42532]

Sl. No.9
QBID:1007459

Choose the correct sentence.

(1) Let us get down for business. (2)

(3) Let us get down at business. (4)

Let us get down to business.

Let us get down over business.




(1) 1
(2) 2

(3) 3

4) 4

Fr=fataa & & aae e wE=i

(A) =W

(By  #fE

(C) =9

(D) T

(E)  #AThm

e fZu U faEeTl § O OE I 1 =544 i

(1) =4 (A), (B) 41 (C) (@) Faw (A). (C) 3 (E)
(3 9 (B). (C) 3R (D) (4) F= (C). (D) 3 (E)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42533]
2[Option ID=42534]
3[Option ID=42535]
4[Option ID=42536]

Sl. No.10
QBID:1007460

Identify the part of speech of the underlined word in the following sentence.

Uneasy lies the head that wears a crown.

(1) Noun (2) Preposition
(3 Adjective (4) Verb

(1)1

(2) 2

3) 3

(4) 4

fFfafEd 9 ¥ geTa 99T

(A) W e

(B) It TE TG Ten @ =
(C) T o ==

(D) TaEmaE =g s 1=
(E) =% =1 i 3161 ==

= fu m fawedl § 5 W 39T I F =9 A

(1) =3« (B) 3T (D) (2) Fae (E) 31 (D)
(3) == (C) 311 (B) (4) FE (A) 37 (C)
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=42537]
2[Option ID=42538]
3[Option ID=42539]
4[Option ID=42540]

Sl. No.11
QBID:1007461

Who among the following enjovs the rank of a Cabinet Minister of the Indian Union?

(1) Deputy Chairman of the Planning Commission
(2) Deputy Chairman. Rajyva Sabha
(3} Secretary to the Government of India
(4) Comptroller and Auditor General
(1) 1
(2) 2
3) 3
(4) 4

Feleigs § 9 9RdE 99 § FefciEd 5 ° E $iee 5= # 2= ue g 2 7

(1) =1 T4 & SUTSIE (2) Tr=F HHI H1 IY-HH
(3)  9Wd TOER % H=" (4) b7 = HIEF vd nEwE e

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42541]
2[Option ID=42542]

3[Option ID=42543]
4[Option ID=42544]

Sl. No.12
QBID:1007462

Which Indian State launched “Mukhyamantri Nibir Matsyachash Prakalpa™?
(1) Assam (2) Kerala
(3) Tripura (4) Telangana

1) 1
(2) 2
(3) 3
(4) 4

T O -8 9T T4 5 g His g vwen i amerd e 20
(1) 3m@m (2) =T

(3) Gum (4)  dermE

]




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42545]
2[Option ID=42546]

3[Option ID=42547]
4[Option ID=42548]

Sl. No.13
QBID:1007463

Government of which state has planned to conduct a programme ., under the banner of
Rashtriva Ashmita Manch on April 23, the birth ammiversary of freedom fighter Veer
Kunwar Singh who played a key role in the mutiny of 1857.

(1) Chattisgarh (2) Bihar
(3) Eajasthan {4) Uttar Pradesh

1) 1
(2) 2
3) 3
(4) 4

o =g wFER A 23 3 F Eaadl FAET 96 e 0 T 1857 % fagr § v wEeyet gfw farf
oft, =1 FId1 TG AT O9 % S0 a6 UF %S 9 61 1] 1E 2

-

(1) TS (2) T==R

(3) TIH (4) T

1) 1
2) 2
(3 3
4) 4
1[Option ID=42549]
2[Option ID=42550]

3[Option ID=42551]
4[Option ID=42552]

Sl. No.14
QBID:1007464

Which features of recks undergo changes in the process of Metamorphism?
(A) Structure

(B) Texture

(C) Carbon Content

(D) Actual chemical composition

Choose the correct answer from the options given below:

(1) (A). (B) and (D) only
(2) (A) and (B) only
(3) (A). (B) and (C) only
(4) (B) and (C) only

(1) 1




(2) 2

(3) 3
(4) 4

FETA Tt Tl | el il - fHeearsn o uiEds g 2 v
(A) T

(B) =@ (FoE=)

(C) = Aaae (He2)

(D)  avlE® TEEEE TEe

Fr= fou e fael 4 @ e IugE I # 9eE il
(1) 3= (A). (B) 31 (D)

(2) A= (A) 3R (B)

(3)  ae (A). (B) #R(C)

(4) A= (B) A (C)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=42553]
2[Option ID=42554]

3[Option ID=42555]
4[Option ID=42556]

Sl. No.15
QBID:1007465

The headquarters of the Ghadar Party was located in which of the following city?
(1) Karachi {2y Lahore
(3) Montreal (4) San Francisco

(1) 1

(2) 2

3) 3
(4) 4

F=ferfaa o o= 9 e ol 1 gees sEfem e

(1) =t (2) <R
(3)  witga= (4) o9 FifaEm
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42557]




2[Option ID=42558]
3[Option ID=42559]
4[Option ID=42560]

Sl. No.16
QBID:1007466

Six friends — Amar, Bimal. Chandni, Deep. Eknath and Farid are sitting on a bench facing in
the same direction. Chandni is sitting between Amar and Eknath. Deep 1s not at the end.
Bimal is sitting to the immediate right of Eknath. Farid 1s not at the right end. Who 1s to the
immediate right of Farid?

(1) Deep (2) Chandm
(3) Amar {4) Eknath
(1) 1
(2) 2
3) 3
(4) 4

T: tom — s, fome, =i, 5, vy AR wig v §9 W uE A o d g7 e 43 3 o o vy
% i 5 il 441 31 A Fah ot it oA 31 w5 g i e 1 i i o
T8 21 wiig % gt gifEd FA BT

(1) 3m (2) =t
(3) I (4) TFAA

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=42561]
2[Option ID=42562]

3[Option ID=42563]
4[Option ID=42564]

Sl. No.17
QBID:1007467

In a row of soldiers facing North. Lal Chand 1s 8% to the right of Khurshid: Mayank is 16%
from the left end: Lal Chand 1s 16™ to the right of Jaikishan. who 15 27™ from the right end of
the row: Khurshid i1s nearer than Mayank to the right end of the row: there are 5 soldiers
between Mavank and EKhurshid. How many soldiers are there between Jai Kishan and
Mayanak?

(1) 3 (2 2
(3) 1 (4 4
(1) 1
(2) 2
3) 3

(4) 4




I fgun @ g % @s fauiteal i v ufs § oermg @i & gifed 89 wH W R, 7EE 9 @ g 16 4
M W 2, A SARIE F qied 169 T W 3; SAFRYE URE & alted T # 274 TIE W R gl
T I GO Ui & G 6 AU e #; @EiG 3 T 6 o= 7 5 e #| sateee o mEE &
= 7 fa fom & 27

(1) 3 2 2
(3) 1 4 4
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42565]
2[Option ID=42566]
3[Option ID=42567]
4[Option ID=42568]

Sl. No.18
QBID:1007468

A B. C.D and E. each are to be taught for one month duration from January to May one after
the other though not necessarily in the same order by lecturers P, Q. R. S and T. P teaches
course B but not in the month of April or May. @ teaches course ‘A’ in the month of March. R
teaches in the month of January but does not teach course 'C or T'. Which course is taught
by §?

(1) Either C or D (2 A

(3 Either D or E 4 B

(1)
(2)
(3)
(4)

A W N =

A B.C. D3R EH @ 7 U= ¥ 79901 § 93 7% UH-UF %0 =7 96 § 0% 784 F {0 g7 P, Q. R,
S 3 T gRT T2 9TF1 2 T 9% 36 F0 § 59 STavEE 96 2| PF B wen # W e a1 W W uee i
T QU= F HEH ° ®E A’ T2 £l R T F #EF ° UK § o ®| C @ D T8 93| S ®E @

() C=D 2 A
(33 DE 4 B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42569]
2[Option ID=42570]
3[Option ID=42571]
4[Option ID=42572]

Sl. No.19
QBID:1007469




Choose the set in which the third statement is a logical conclusion of the first two.

(I) Some Xs are Ps. Some Ps are Ys. Some Xs are Ys.

(IT)  All Bangles are beautiful. Some beauties are crazy. Some Bangles are crazy.
(IIT) No belief is strong. Only strong have muscles. No belief has muscles.

(IV)  All orangutans are men. Some men are strong. Some orangutans are strong.

(1)  (II) only
(2) (I) and (IT) only
(3)  (IV) only

(4) (I) and (IV) only

(1) 1
(2) 2
3) 3
(4) 4

= fopegi ° © g 9190 329 UES 31 3l 1 9 G99 o 27

M T9Xs.Ps?ElF5Ps, Ys7l F9Xs, Ys @l

(M) & dfeat g7 2| T2 =0 G5 2| 59 9i=al & 3

(D) =i favam a9 T8 2| Fad T & T8 & 515 uivEt g 2| of favam # om 5w ot

= fEu T faEedi § © oen Iuge I o 9a Hif

(1)  =a« (1)
2 FF (D #R 1)

(3) FF=AAV)
(4 E (D) Fw AV)

1) 1
(2) 2
3) 3
4) 4
1[Option ID=42573]
2[Option ID=42574]

3[Option ID=42575]
4[Option ID=42576]

Sl. No.20
QBID:1007470




Which of the following arguments are formally correct?

(I) Some bikes are motorbikes. All motorbikes are scooters. Some bikes are scooters.
(I)  All children are students. No students are bad. No children are bad.
(III) No pencil is pen. Some pens are markers. Some pencils are markers.
(IV)  Everv man has a wife. All wives are devoted. No devoted has a husband.
(1) (I) and (I1T) only
(2) (I) and (IV) only
(3) (I) and (IT) only
(4) (D) and (IIT) only
(1) 1
(2) 2

3) 3
(4) 4

Fetetias @ @ =9 @ @ sl =9 9 w6 27

(I) o a15F A Bl &l A HierEnss e Bl &) TS A6 Tl 7 8|

(II) TR &= 3 2| F1s SH T Ta1 21 HIE &= 70 7 3|

(II) =3 SFGeT U9 2 21 59 0 91 21 F9 U0l 7 2|

(IV) = 959 = UiE U et 2| @t it e a8 i Feam g s 5= e
e Tou U fashedl § @ HeE 39 ST R 9E HI0

(1) e (ID) & (I00)
(2 =hae (I) 3 IV)
(3)  =a= (I) IR (I0)
(4)  =a= (I) 3 (11D

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=42577]
2[Option ID=42578]

3[Option ID=42579]
4[Option ID=42580]

Sl. No.21
QBID:1007471

The numbers of four digits can be formed with the digits 1. 2. 3. 4 and 5. where repetition of
digits iz not allowed 1s

(1) 30 (2) 60
(3) 120 (4) 240




(1)
(2)
(3)
(4)

A W N =B

FF 1.2.3.47d 5 F WY 4 ITH H HaA O=A0 SHE 0 GHAT B, E wH B w H FEEE
(rera) =& o sy

(1) 30 (2) 60
(3) 120 (4) 240

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=42581]
2[Option ID=42582]

3[Option ID=42583]
4[Option ID=42584]

Sl. No.22
QBID:1007472

A and B travel from point P to Q. a distance of 42 ki at 6 km/h and 8 km/h. respectively. B
reaches Q first and returns immediately and meets A at B. Then the distance from points P to
Ris

(1) 52 km (2) 36km

(3) 40 km (4) 46 km

(1) 1
(2) 2
(3) 3
(4) 4

A ¥R B3 6 Tt /a9e va 8 Tt /o2 it =t @ fag P ¥ Q @ & 9 42 &l Fi gff 7@ 7 €1 B,
Q T I R UEEAT & I gid 99 wited @99 A ® R fag w faeien 21 P @ R 9% & ofta 1 gl
=i ?

(1) 32T (2) 36 .

(3) 40 T, (4) 46 f=edi,

(1)
(2)
(3)
(4)

A W N =

1[Option ID=42585]
2[Option ID=42586]




3[Option ID=42587]
4[Option ID=42588]

Sl. No.23
QBID:1007473

If A purchases 10 oranges for %. 25 and sells 9 oranges for %. 25, then gain percentage 1s

(1) 12l

9

1

(3 9—

) 9
(1) 1
(2) 2
3) 3
4) 4

(2) ?l
g

1

4 11—
} 9

2 A, 10 Tt i 25 %90 § Eigd & 3K 98 9 Ot =1 25 ¥9U § =9 241 &, 99 Ui 9ihaed @y S

7

(1) 12 —

(3)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42589]
2[Option ID=42590]

3[Option ID=42591]
4[Option ID=42592]

(2

(4)

Sl. No.24
QBID:1007474

Two natural numbers are in the ratio of 3 :

number 1s

(1) -12
(3) 306
1) 1
(2) 2
3) 3

(4) 4

5 and their product 1z 2160, then the smaller

2y 12

4y 60




Tl WTHfE A 31 5% WA A & 317 I EEa 2160 FE 2| 79 GeH, Bl JEE w2 e

(1) -12 2y 12
(3) 36 (4) 60

1) 1
(2) 2
3) 3
4) 4
1[Option ID=42593]
2[Option ID=42594]

3[Option ID=42595]
4[Option ID=42596]

Sl. No.25
QBID:1007475
i 2 3 : : T
If —. — and — are given fraction. then largest fraction 1=
12 3 3
= @ 3
12 8
- 2 ;
(3) = (4) All are equal
(1) 1
(2) 2
(3) 3
4) 4

ﬁ#.%@%mwm%,aﬁﬁm@ﬁa%ﬁ—m%?

(1) (2 E
8

(3) (4) = s 2
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42597]

2[Option ID=42598]

3[Option ID=42599]
4[Option ID=42600]

Sl. No.26
QBID:1036001




Which of the following value provides information about degree of unsaturation of oil/fats?

(1) Acid value (2) RM value

(3) Todine value (4) Peroxide value

1) 1
(2) 2
(3) 3
(4) 4

=1 § o =i | 5E FEn i 31¥|TIFIT (Degree of unsaturation) % @ H AFEA] 24 ?-_‘?

(1)  ufEE 79 (Acid Value) (2) =M. . 77 (R.M. Value)
(3) #HEEA AF (lodine Value) (4) THiFEES 9F (Peroxide value)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43201]
2[Option ID=43202]

3[Option ID=43203]
4[Option ID=43204]

Sl. No.27
QBID:1036002

The time in minutes required to reduce the micro organisms by specific number of log cveles
1z called

(1) z-value (2) TF-value
(3) D-value (4) N-value
(1)1
(2) 2
3) 3
(4) 4

fafsre s = = =% 7% gEEsEl & U= + fou nEvaE o9 e § w6 T w27
(1) za7g (2) Famg
(3) DIy (4) NI

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43205]
2[Option ID=43206]

3[Option ID=43207]
4[Option ID=43208]

Sl. No.28
QBID:1036003




What is the pH range of PSE meat?

(1) 5.6 -56.7 (2)

(3) 8.0-9.0 (1)

(1) 1
(2) 2
(3) 3
(4) 4

PSE 55 1 pH avfi == gt 87

(1) BB 8.7 (2)
(3) 8.0-9.0 (1)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43209]
2[Option ID=43210]

3[Option ID=43211]
4[Option ID=43212]

7.0-7.3
20-3.0

7.0-7.3
20-3.0

Sl. No.29
QBID:1036004

Marbling in meat cuts iz ascribed mainly to

(1) Intermuscular fat (2)

(3) Connective tissues (4)

(1) 1
(2) 2
(3) 3
(4) 4

myd | AEten (Marbling) 8 % %R0 =61 27

(1) AT 95 (Intermuscular fat)

(3 A4t Ha% (Connective tissues)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43213]
2[Option ID=43214]

3[Option ID=43215]
4[Option ID=43216]

Intramuscular fat

Sarcomeric proteins

(2) =74 T T (Intramuscular fat)

(4) TEHMEE TEE (sarcomeric proteins)

Sl. No.30
QBID:1036005




Which of the following is an example of non-climacteric fruit?

(1} Banana (2) Peach
(3) Pineapple (4) Pear

1)1
(2) 2
3) 3
(4) 4

f=1 % 9 =9 71 %e1 Non-climacteric &7

-

(1) =Hedl (2) =g
(3) HAE (1) =T

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43217]
2[Option ID=43218]

3[Option ID=43219]
4[Option ID=43220]

Sl. No.31
QBID:1036006

What is the value of water activity for pure water?

(1) 1.00 (2) 10.0
(3) 100 (4) 1000

(1) 1
(2) 2
(3) 3
(4) 4

g 5 Hl qied ufFzfad (Water activity) #1287

(1) 1.00 (2) 10.0
(3) 100 (4) 1000

1)1
2) 2
3) 3
4) 4
1[Option ID=43221]
2[Option ID=43222]

3[Option ID=43223]
4[Option ID=43224]

Sl. No.32
QBID:1036007




Which commercial source of starch is characterized by largest granule size?

(1) Potato (2) Maize
(3) Wheat (4) Rice

(1) 1
(2) 2
(3) 3
(4) 4

, ~ o (e = o R e 2
Tl T2 F AT T A A |Id ) e 27

(1) Al (2) ==
3 ™= (4) =M=
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=43225]
2[Option ID=43226]
3[Option ID=43227]
4[Option ID=43228]

Sl. No.33
QBID:1036008

Which of the following enzymes is a liquifying enzyme?

(1) a-Amylase (2) Pp-Amylase

(3) Glucoamylase (4) Pullulanase

i s

T 0 H FM & UasH garkd tamed (liquifying enzyme) 87

(1) O-HYT? E.-'*.- (2) p-+ IHE[FEE.
(3)  TeERISEEeT (4) I
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43229]
2[Option ID=43230]
3[Option ID=43231]
4[Option ID=43232]

Sl. No.34
QBID:1036009




The temperature at which the vapours of o1l or fat continue to burn for over 5 seconds after
being 1gnited 1s called

(1) smoke polnt (2) flash point

(3 fire point (4) slipping point

(1) 1

(2) 2

(3) 3

(4) 4

=g A 58 9T 9 A1 F9) A Se % A8 S HeheS o Soid! t@dl @ 9] sheeldl 87
(1) g9 ﬁ‘d (smoke point) (2) o ﬁﬁ;ﬂ(ﬂash point)
(3) 9o (fire point) (4) 99 =g (slipping point)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43233]
2[Option ID=43234]
3[Option ID=43235]
4[Option ID=43236]

Sl. No.35
QBID:1036010

As per the fourth amendment regulation by FSSAI, the limit for Ca and Mg in packaged
drinking water is

(1) 10 ppm; & ppm (2) 75 ppm; 30 ppm

(3) 5 ppm ; 10 ppm (4) Noupper limit

(1) 1

2) 2

(3) 3

4) 4

FSSAI & =9 goae fafam & simia @9 §iF & arli § Ca 3t Mg & dim Fafafas 7 8 =6
i 27

(1) 10 ppm; 6 ppm (2) 75 ppm; 30 ppm

(3 5ppm: 10 ppm (4) = s

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43237]
2[Option ID=43238]

3[Option ID=43239]
4[Option ID=43240]

Sl. No.36
QBID:1036011




The green rot in eggs is caused chiefly by

(1) Pseudomonas flourescens (2) Serratia marcescens
(3) Acinetobacter alkaligens (4) Proteus
(1) 1
(2) 2
(3) 3

(4) 4

el 4 gfid e geaa: Gafafaa & @ feos g 3o &a &7

(1) gSEH™ i (2) #ifvrn aid=a
(3)  UiEEEeEe o e (4) wifeam

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43241]
2[Option ID=43242]
3[Option ID=43243]
4[Option ID=43244]

Sl. No.37
QBID:1036012

The exposure of food grain to a chemical insecticide with the dose sufficient encugh and
exposure period long enough to kill the insect pest 1= known as

(1) Cold sterilization (2) Fumigation

(3 Asepsis (4) Exhausting

(1) 1

(2) 2

(3) 3

(4) 4

F2l AR diewl F AW F AU T @Emm w6 = 69 F e I9gEy F O TE@EeEE e
YT T FeAral 2 7

(1)  =ffa s¥9ai% (cold sterilization) (2) 979 (fumigation)
(3)  ¥IMT (asepsis) (4) == (exhausting)
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43245]
2[Option ID=43246]
3[Option ID=43247]
4[Option ID=43248]

Sl. No.38
QBID:1036013




Which of the following methods is NOT used for moisture determination?

(1) Owven method (2) Karl-Fischer method
(3) Dean-Stark method (4) Saponification

1)1
(2) 2
3) 3
(4) 4

frfeafaa o & =i 9t gomedt =1 39am sgar fFato # fou 128 T s 27

(1) T T (2) e T omret
(3) =M == wome (4) TR

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43249]
2[Option ID=43250]
3[Option ID=43251]
4[Option ID=43252]

Sl. No.39
QBID:1036014

The bitter flavour in Beer is provided by

(1) Hibiscus rosa sinensis (2) Saraca asoka

(3) Humulus lupulus (4) Cassia fistula

(1)1
(2) 2
(3) 3
(4) 4

frfafaa # & s grr o =it g w@1g wem fen s 27

(1) wfaesa e weata (2) R HH=
(3) TTE gyeE (4) =HfeEn fEegen

1) 1
(2) 2
3) 3
4) 4
1[Option ID=43253]
2[Option ID=43254]

3[Option ID=43255]
4[Option ID=43256]

Sl. No.40
QBID:1036015




500 kg of paddy at 22% moisture content (wet basis) is dried to 14% moisture content (wet
basis) for milling. Calculate the amount of moisture removed during drying

()  46.51kg. (2) 56.51 kg.

(3) 36.51kg (1) 26.51kg.
(1)
(2)
3)
(4)

500 R, 9= faed 22% sigar i /e (A saiE) 2, %1 I 14% Sgan A (A saiE) 9%

usvr o feru e | s & Soe Feedt T sgar \mn s

(1)  46.51 fem. (2) 56.51 fam.

(3  36.51Fmm. (4) 26.51 fem.

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43257]
2[Option ID=43258]
3[Option ID=43259]
4[Option ID=43260]

Sl. No.41
QBID:1036016

Chilling temperature ranges from
(1) 0tol5°C (2) —-5°Cto-1°C
(3) —10°C to -5° C (4) —-20°C to-15°C

(1)
(2)
(3)
(4)

A W N =

(1) 0-15°|.3. 4 R e L o
(3) 10° - B H3, (4) —20°--15°9.3.

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43261]
2[Option ID=43262]
3[Option ID=43263]
4[Option ID=43264]

Sl. No.42
QBID:1036017




FSSAI has recently reduced the level of trans fatty acids in fats and oils

(1) From 10% to 1% (2) From 5% to 2%

(3) From 20% to 2% (4) From 15% to 1.5%

1)1
(2) 2
(3) 3
(4) 4

FSSAT S & & | =57 31k oell § 2/ =67 35 &1 &0 %4 5 8

(1) 10% | 1% @ (2) 5%H 2% a%

(3) 20% # 2% o (4) 15%9 1.5% %

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43265]
2[Option ID=43266]

3[Option ID=43267]
4[Option ID=43268]

Sl. No.43
QBID:1036018

Which of the following is not an adulterant in vegetables?

(1) Malachite green (2) Rhodamine B
(3) Chicory powder (4) Copper Sulphate

(1) 1
(2) 2
(3) 3
(4) 4

frafefaa § & 1 @ afeam =1 sty 72 27

(1)  Herse BfiE (2) U= i
(3)  Ferprt =pf (4) W TR
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43269]
2[Option ID=43270]
3[Option ID=43271]
4[Option ID=43272]

Sl. No.44
QBID:1036019




Which of the following 1s an example of intelligent packaging?

(1) Nitrogen flushing in package (2) Ethylene scavenger in package
(3) pH indicator patch on package (4) Esszential o1l impregnated package
(1) 1
(2) 2
(3) 3
(4) 4

freTfeigs § & #1195 T (intelligent packaging) =i = 27

(1)  Uehst § A15219H &1 U918 (2) U H SATSEE SATHEE
(3) %= # pH 7= =7 (4) = 7 & F9Ef=a T
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=43273]
2[Option ID=43274]
3[Option ID=43275]
4[Option ID=43276]

Sl. No.45
QBID:1036020

Which of the following proteins present in egg has antibacterial activity?

(1} Ovomucin (2)  Owvalbumin

(3) Conalbumin (4) Lysozyme

(1) 1
(2) 2
3) 3
(4) 4

frfefiaa & 9§ o2 & wufem +1 @ 980 | gl G 27
(1) SHiaT (2) shacgfE
(3)  wHHEERA (4) eEEEE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43277]
2[Option ID=43278]

3[Option ID=43279]
4[Option ID=43280]

Sl. No.46
QBID:1036021




Which of the following evaporators is considered the most appropriate for highly viscous
foods?

(1) Falling — film (2) Rising —film
(3) Rising/Falling — film (4) Agitated thin — film

1) 1
(2) 2
3) 3
(4) 4
r

T o | 14 |1 A9 99 (evaporator) HeT9e e TS o R I9EE WET S 2 7

(1) Fiter-TFea (Falling-film) (2) wstem-TF=3 (Rising-film)

i it

=

(3) Tt /wiem-TFea (Rising/falling-film) (4) ue<Re {99 -TFew (Agitated thin — film)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=43281]
2[Option ID=43282]

3[Option ID=43283]
4[Option ID=43284]

Sl. No.47
QBID:1036022

The most abundant protein in egg white is

(1) Ovalbumin (2) Conalbumin

(3) Ovomueoid (4) Lysozyme

1) 1
(2) 2
(3) 3
(4) 4

¥ I ThAl § TEE WOE o H IufEda 9idE §
(1) EICECItE] (2) wAEgA

Y = =

(3)  SIETELEREE (4) TATEEIATEH

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43285]
2[Option ID=43286]

3[Option ID=43287]
4[Option ID=43288]

Sl. No.48
QBID:1036023




Which fraction of starch is responsible for blue color with iodine?
(1} Amylose (2) Amylopectin

(3) Amylase (4)  Amylo-lipid complex

(1)
(2)
(3)
(4)

AFEEH % " diet T (s Fen) & o w2 w we-a s IoEE g g e

(1)  wmrEe (2) AN
(3)  A9TSeA (1) IHEEATANE FieeT

A W N =

1) 1
2) 2
(3) 3
(4) 4
1[Option ID=43289]
2[Option ID=43290]

3[Option ID=43291]
4[Option ID=43292]

Sl. No.49
QBID:1036024

The first limiting essential amino acid in cereals is

(1) Isoleucine (2) Lysine

(3) Tryptophan {4) Phenylalanine

(1) 1
(2) 2
3) 3
(4) 4

n O o

AT 0 gam Himw (fafmfen) sfad s o 2 -

(1)  AHeTEN (2) =rEE

(3) o=k (4) FHEATAREHE
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43293]
2[Option ID=43294]
3[Option ID=43295]
4[Option ID=43296]

Sl. No.50
QBID:1036025




Which of the following method 1s considered as the newest method for commercial
tenderization of meat?

(1) salting (2) application of enzymes

(3) ageing (4) electrical stimulation

(1) 1

(2) 2

(3) 3

(4) 4

fr=ferfaa 4 & FF -+ fafa gig % s gfewm 7g T==am &fa & =9 9 ausf st 27

(1) @9UH (salting) (2) TUSEH F1 #HA EJJE]EI\F

(3) FTA-T9T=H (ageing) (4) ﬁ'qﬁ 32 (electrical stimulation)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43297]
2[Option ID=43298]
3[Option ID=43299]
4[Option ID=43300]

Sl. No.51
QBID:1036026

The bloom of unprocessed meat 1s due to

(1) Oxymyoglobin (2) Metmyoglobin
(3 Haemoglobin (4) Nitrosamines
1) 1
(2) 2
3) 3
(4) 4

AwEEFa fa wia w1 ‘s=m R a2 e

(1)  AFEErEE (2) FeAEFEA
(3)  dmreit (4) TErEenE
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43301]
2[Option ID=43302]
3[Option ID=43303]
4[Option ID=43304]

Sl. No.52
QBID:1036027




FSSAI recently changed the symbol of non-vegetarian food from brown circle to brown
triangle to help to distinguish it for

(1) Cataract person (2) Physically challenged
(3) Colour Blind people (4) Blind people

(1) 1

(2) 2

(3) 3

(4) 4

g & 0 UF. UH. UH. U, {15, T AHER] @ 9erdl & 9 el (J9) 9l e 8 9 {ge 9 wdiew &
w9 4 340 4 {50 20 92+ 4 9o & fou afafaa - 73 27

(1)  wIfqaTeg § 3% @R & o0 (2) To=mm w1 = fom
(3)  FWi=ad1 T T F oA (4) &= = % fou
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43305]
2[Option ID=43306]
3[Option ID=43307]
4[Option ID=43308]

Sl. No.53
QBID:1036028

Celiac patients are unable to consume

(1) milk and milk products (2) wheat and wheat products

(3) eggs and meat (4) pulses/legumes

(1) 1

(2) 2

3) 3

(4) 4

Hiferess wis Tmafeias § & fom =1 394/ #2335 o0 84 87

(1) 9T g9 308 (2) E v g FaHi 3
(3) 2 wa mEm (4) =/ (Sm)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43309]
2[Option ID=43310]
3[Option ID=43311]
4[Option ID=43312]

Sl. No.54
QBID:1036029




On dry basis, soybean seeds contain around

(1) 20% lipids and 40% proteins (2) 40% lipids and 20% proteins
(3) 10% lipids and 30% proteins (4) 40% lipids and 30% proteins

1) 1
(2) 2
(3) 3
(4) 4

YRAT o SATIR T, HATEIS o Sie H el acd o 9TE § 9 S 2

(1)  20% fafuz = 40% wé= (2) 40% fafgs w3 20% W&
(3) 10% fafuz va 30% UidE (4) 40% fafdg w3 30% WA
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43313]
2[Option ID=43314]
3[Option ID=43315]
4[Option ID=43316]

Sl. No.55
QBID:1036030

The most recently recommended method for determining protein quality is

(1) PER (2) NPR
(3) PDCAAS (1) DIAAS

1) 1
(2) 2
3) 3
(4) 4

e i e & fruRw % fou ee & 7 sgia fafy #

(1) PER (2) NPR
(3) PDCAAS (1) DIAAS

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43317]
2[Option ID=43318]

3[Option ID=43319]
4[Option ID=43320]

Sl. No.56
QBID:1036031




Which of the following is NOT a reducing sugar?

(1) SUCTOSE (2) maltose

(3) glucose (4) fructose

(1) 1
(2) 2
3) 3
(4) 4

9 O F9 f 7= 90 (reducing sugar) T &7

-

(1) g&E (2) wreerd
(3) TEEE (4) wEH
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43321]
2[Option ID=43322]
3[Option ID=43323]
4[Option ID=43324]

Sl. No.57
QBID:1036032

The portion of water in food that does not freeze at low temperature (below 0°C) and remains
unavailable as solvent for additional solutes is termed as
(1) free water (2) bound water

(3) entrapped water (4) critical water

(1) 1
(2) 2
3) 3
(4) 4

@ H W o 7 W@ #@ed araE (0°C | ) W femsfia 2 et i wfafos faom % fou faems
TE SITed TEdl 2, 78 FEAT &

(1) a3 91 (2) == geN WA
(3)  TOTeE S (4) iAo

1)1
(2) 2
3) 3
(4) 4
1[Option ID=43325]
2[Option ID=43326]

3[Option ID=43327]
4[Option ID=43328]

Sl. No.58
QBID:1036033




The protein fraction soluble in salt solution is termed as

(1) Albumins (2) Globulins
(3) Prolamins (1)  Glutelins

(1) 1
(2) 2
(3) 3
(4) 4

A e § geesiia 9éE 9 H FEd §

(1) w=AiA (2) TEEET
(3) W= (4) Tedifaa

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43329]
2[Option ID=43330]

3[Option ID=43331]
4[Option ID=43332]

Sl. No.59
QBID:1036034

The chief characteristics of stale bread are

(1) low water holding capacity
(2) shrinkage
(3) soft crumb and hard crust

(4) both low water holding capacity and shrinkage

(1) 1
(2) 2
3) 3
(4) 4
= (a1 é?:‘ EEI r.: ﬁ-. Eaﬂ'ﬂr _Efl

(1) WY Sl TR &
(2) o=
(4)  TH1 e S GEU AT S e

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43333]
2[Option ID=43334]




3[Option ID=43335]
4[Option ID=43336]

Sl. No.60
QBID:1036035

Which of the following is popularly known as ‘Tin free steel’ in food canning?

(1) steel base coated with chromium (2) steel base coated with aluminium

(3) steel base coated with zine (4) high carbon steel

(1) 1
(2) 2
(3) 3
(4) 4

0§ ford @ feeaedl o 92y 4 o7 ¥ 9o Wia o 99 H S S 2 e

(1)  SRITEYT 3 T1Y wifdg Tl oF Fies (2) TEHMMEER F HY TG T 99 HieE
(3) 1o =% @19 ©ilYa =e 99 ®ies (4) == FEA =

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43337]
2[Option ID=43338]
3[Option ID=43339]
4[Option ID=43340]

Sl. No.61
QBID:1036036

During wet milling of maize. sulphur dioxide 1s mixed with steeping water for the reasons
except

(1) to soften the grains

(2) to promote separation of proteins and starch
(3) to improve appearance of grains

(4) to avold germination

(1) 1

(2) 2

(3) 3

4) 4

frferfiaa 0 & T FE0T o AT ToR & TG T F FHT HeE S5 AFEES & 9o § Gl S 87

(1} HATS =R ]]_xﬁi {(2) HFD'—__“‘ 5 aﬂ'{ _-'?l_ﬁlq %E. l:!ﬁm =T m
(3) TS T-wT H GIE @ I

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43341]




2[Option ID=43342]
3[Option ID=43343]
4[Option ID=43344]

Sl. No.62
QBID:1036037

Which of the following equipment 1s used in the flour mill to break insect eggs and larvae?

(1) Break mlls (2) Hydrocyclones

(3) Entoleter (4) Purifier

(1) 1

(2) 2

(3) 3

(4) 4
frferfiga 4 & =9a 3w Fiz & v 3R aE # d=4 & fou e == § 3gam e e g7
(1) o it (=) (2) o THaE
(3) U=miE (4) iR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43345]

2[Option ID=43346]

3[Option ID=43347]
4[Option ID=43348]

Sl. No.63
QBID:1036038

The radicals produced during irradiation can be detected by using

(1) Electron Spin Hesonance (ESR) Spectroscopy
(2) X-ray diffraction (XRD) Spectroscopy
(3) Flourescent Spectroscopy

(4) Ultraviolet Spectroscopy

(1) 1
(2) 2
(3) 3
(4) 4

R0 % SR 3099 Ja! i [Hfeiad gRI 9e=[ 1 SEl 2 -

(1)  zoies o = (ESR) T (2) X3 fed=em (XRD) Tz

(3)  FEANHE TIEEEERM (4) TR R
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=43349]
2[Option ID=43350]




3[Option ID=43351]
4[Option ID=43352]

Sl. No.64
QBID:1036039

Which one of the following is an example of oxygenated carotenoids?

(1) p-carotene (2) zeaxanthin

(3) B-sitosterol {4) stigma sterol

(1)1
(2) 2
(3) 3
(4) 4

fefafaadsm @ H‘Tﬂ'\‘:ﬂ?ﬁ %ﬂﬁq‘ﬁ'ﬁ (oxygenated carotenoid) %?

(1) B—%ﬂﬁq (B-carotene) (2) Fraf=m (zeaxanthin)
(3) p-feredie (B-sitosterol) (4) fErar=iie (stigma sterol)

1) 1
2) 2
3) 3
4) 4
1[Option ID=43353]
2[Option ID=43354]

3[Option ID=43355]
4[Option ID=43356]

Sl. No.65
QBID:1036040

Which one of the following is an example of simple lipids?

(1) Sphingomyelins (2) Gangliosides
(3) Waxes (4) Phosphoacylglycerols

(1) 1
(2) 2
(3) 3
(4) 4

ffeafaa 4 & == @ @ 7597 (simple lipids) = 35 27

(1) formsieE (Sphingomyelins) (2) TeEETEEE (Gangliosides)

(3) IFET (Waxes) (4) FwieRmEEerTeEna (Phosphoacylglycerols)
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43357]
2[Option ID=43358]
3[Option ID=43359]
4[Option ID=43360]




Sl. No.66
QBID:1036041

Given below are two statements ;

Statement I :  India holds first position in production of spices and fruits/vegetables.

Statement IT : India ranks second in wheat production.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement IT 1s true
(1) 1
(2) 2
(3) 3
(4) 4
A= 7 o B TR

FA1: Tl UE S /T % 3o § HEE 99E TE W R

FA11: WA g IeTA H gE FIE T 2
IF F99 & F |, G 27 70 T § § g9 3T I F =99 i

(1) %= 13 11861 &6 &
(2) &A1 38 11 2A 7em 8
(3) w16 &, dfth & 11 Terd &
(4)  FoF 1700 g, e w9 11887 8

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43361]
2[Option ID=43362]
3[Option ID=43363]
4[Option ID=43364]

Sl. No.67
QBID:1036042




(Given below are two statements :

Statement [ 1 Squash refers to a fruit product prepared by mixing juice with sugar
solution
Statement [1 1 According to FSSAI standards, squash shall have 10% fruit juice content

and 40% total soluble solids.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

(1) 1

(2) 2

(3) 3

(4) 4

= @ e g 2

Eﬁ”ﬂ I z LRI Rl * quq" ‘-—:‘ %’? .U\a; ﬁ.ﬁ ED o ﬁ % EiT E}Trﬁ' %‘E iy Eﬁl -'qu?:l! '—:IE T4 é ﬁ:l-fa_ﬂ E‘Fr].-\aa EEIE]
Ein ]

Fo7 I1:  FSSAI 9Mgs & SN #6am 0 10% Bl & & AT 40% T0q0 gemeiia 3 g+ =eg|

S HYH F AT °, 419 20 T Gwedi § 8 = 3G s % =54 Fife

(1) =2 I I 5 oet 2
(2)  wud I @ II 2 a2
(3) o 1o 2, i o Il 7era 2
(4)  Fud Ivera 2, wife #a [ adi 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43365]
2[Option ID=43366]
3[Option ID=43367]
4[Option ID=43368]
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(Given below are two statements :

Statement [ :  Prolonged higher degree of thermal exposure leads to green discoloration of
hard cooked eggs.

Statement II: Green colored yolk can be avoided by using proper cooking time and
temperature.

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement [ and Statement I1 are correct
(2) Both Statement [ and Statement I are incorrect
(3) Statement [ is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
1) 1
(2) 2
(3) 3
4) 4

Fi= g1 e fRw T 2

Fa 1 o OOg d% 3= 22U 999 F 99" O F80 99 [ #e U g T &1 fF=@vH (Discoloration)
&1 = 2l

Fua I1: @1 T o 30 999 1 a0 o 3990 § 80 T F Ok § 9919 8 HRAal 2 |
ST HH F A A, 4 7w T Fwen § 8 99 3ged I F w6 Fiee

1) = I oin I3 ad 3
(2) %y &R [I2H 7Tea 8
(3) =& 15 2, ©ifed %ua I 7 2

(4) Fuq [ 7eqd 2, @iehd %99 [ =8 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43369]
2[Option ID=43370]
3[Option ID=43371]
4[Option ID=43372]
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Given below are two statements :

Statement I:  According to FSSAL the upper limit for total polar compounds 1n a vegetable

olls should be 25%.

Statement II: It 1s voluntary for food businesses to ensure the level of polar compounds 1s

below 25% 1n vegetable oll.

In the light of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Both Statement I and Statement II are true
Both Statement I and Statement II are false
Statement I 1= true but Statement I is false

Statement I 1= false but Statement IT 1s true

faaFmfeomu 2 :

Feg I

FSSAI % &38n =9efd 9ef ¥ Fel qrerw Afm! (Compounds) &1 Z0 FH1 25% BHT =120

Fom [1: @ =EEm + a7 Sfees ¢ B 3 il = st qa 3 e i

(Compounds) =i amT 25% I F7 2|

ST FF F AEF §, T2 50 T FEed § 8 ga I9gFd 39 F 99 A

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

w7 [ & [ 2M1 =8 2
Ty 1 & II 241 7o 2
FoH 1840 2, wifera w29 17T @

w1 7ed 2, fed %9 [T a8 2

1[Option ID=43373]
2[Option ID=43374]
3[Option ID=43375]
4[Option ID=43376]
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Given helow are two statements :
Statement [: DATEM is a type of emulsifier.
Statement [1: DATEM finds applications in bread making to improve bread volume.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement [ and Statement [T are correct

(2) Both Statement [ and Statement I are incorrect
(3) Statement [ is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3
(4) 4

Jr= g wem R o E -

Fg91:  DATEM v% && %1 TAd&F (emulsifier) 21
Fg9 I11: DATEM 35 35924 # 38 3&a (volume) F2H & o 3warft g@n 21

3T FYF F AF °, G o e fawent § @ ged 3ugEa I # =99 i

(1) =% I 30 [15H1 96 §
(2) =99 130 11 ZMT 7Tera &
(3) g 198 2, afF w99 1 7ed 2
(4) w1 7em 2, 9 w5 196 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43377]
2[Option ID=43378]

3[Option ID=43379]
4[Option ID=43380]
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(Given below are two statements :

Statement [ :  Vacreation is a process of pasteurization of cream.

Statement II: In vacreation, cream is heated rapidly by injecting steam under vacuum.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

Both Statement [ and Statement II are correct
Both Statement [ and Statement I are incorrect
Statement [ is correct but Statement IT is incorrect

Statement [ is incorrect but Statement IT is correct

Fa g wya fer o 2 .

F27 1:  3fFFTF (Vacreation) W Tw=arssio =i TF fafd 2|

Fu I1:  afFase (Vacreation) ¥ i\ =1 5979 0 9199 & &74:8991 g1 igar & 7 fran < 2|

ST FI F AT H, S G T TEed § F 5eE 3Ugad S H =99 HI

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Fo [ &0 [I241 58 &

w94 [ #K IL2HT e &

Fud [ =2 2, = &g Il oea &

w99 1 7ed 2, @A 99 [ =8 2

1[Option ID=43381]
2[Option ID=43382]
3[Option ID=43383]
4[Option ID=43384]
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Given below are two statements :
Statement I:  DNilk is pasteurized to kill pathogenic microorganisms.
Statement IT: Pasteurization of milk also improves shelf life of milk.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I 1s Incorrect but Statement II is correct
(1) 1
(2) 2
3) 3
4) 4
Ji= & wee feu o #

w1 g TRHUSHYE T GERSEl A % fod e s 2

FoA 11:  orv=gusesH gry i Fae smg =1 i aem 1
ITIE FHA F AAF |, A= o T fwedi § € gew I9gEa I w1 =99 Fife

(1) =7 [=Ar [ g= o
(2) = 13 11 5H1 Tea
(3)  wga 148 2, sfe w94 1 e 2
(4) w5 17 8, AT w9 11981 8

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43385]
2[Option ID=43386]
3[Option ID=43387]
4[Option ID=43388]
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Which of the following are common adulterants for red chilli powder?

(&)
(B)
(©)
(D)
(E)

Metanil yellow
Lead chromate
Sudan Red
Papaya seeds
Brick powder

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

B =

(1)
(2)
(3)
(4)

A W N =

(A) and (B) only
(B). (), (D) only
(B) and (I}) only
(C) and (E) only

e il TEet | o FH arE 5= afhss we 8 g e

(A)
(B)
(©)
(D)
(E)

Hefaa o (Metanil vellow)
&= %2 (Lead chromate)
HEM & (Sudan Red)

it & i

= H T

Jr= fou o el # & w8 39 w1 =94 Fifsw .

(1) 1
(2) 2
(3) 3
(4) 4

#ad (A), (B)
#a (B), (C), (D)
Fad (B), (D)
a4 (C), (E)

1[Option ID=43389]
2[Option ID=43390]
3[Option ID=43391]
4[Option ID=43392]
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Which of the following statement/statements are correct?

(A) Sterilization of food by radiation is known as ‘Radappertization’.
(B) Killing of pathogens by radiation is known as radicidation.

(C) Prolonging shelf life by radiation is known as radurization.

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
(3) (A). (B) and (C)
(4) (B) and (C) only

(1) 1

(2) 2

(3) 3

4) 4

ffefiga 1 4 98 %99 /F9H1 1 1290
(A) @l T g e e ® SuReE e wEd 2l

(B)  TAfROT ZW1 IRTOISAT S 52 S ] S SE FEd o

(C)  Tafwon gmr fart e wem +1 T9rssee Fad 2

dr1 fou v faemedt ¥ & wdt 3o @1 =39 Fifau
(1) =7 (A). (B)

(2) === (A), (O)

(3) (A), (B) 1 (C)

(4) === (B). (C)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43393]
2[Option ID=43394]

3[Option ID=43395]
4[Option ID=43396]
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Flat sour spoilage in heated canned foods is due to

(A) Bacillus coagulans
(B) Clostridinum thermosaccharolyticum
(C) Clostridium sporogenes

(D) Closiridinm botulinum

Choose the correct answer from the options given below :

(1) (A) only

(2) (A), (B) only
(3) (A), (B) and ()
(4) (C). (D) only

(1) 1
(2) 2
(3) 3
(4) 4

Coo e . e " o = s = :
TH feru U fEeaTeg @En ¥ TSEEee SAed Tees e grl et 2l

(A)  =fHem FoeE

CN. Y o o O s
(B) FARLISTH THHFAATS2HH

(C)  FErTSay TN
(D)  =@rifeay Segfaan

Fr=r fau v famedt I § FE 3 =9 FIe
(1) ==« (A)

(2) == (A), (B)

(3) (A, (B) AT (C)

(4)  FF=(C), (D)

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43397]
2[Option ID=43398]

3[Option ID=43399]
4[Option ID=43400]
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Yeast is used as a leavening agent in the preparation of

(A) Bread

(B) Bagels

(C) Soft Pretzels
(I Muffins

(E) Cookies

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C) only
(2 (C). (D), (E) only

)
(3) (B). (C), (D) only
)

(4 (A). (C). (E) only
(1) 1

(2) 2

3) 3

4) 4

(A) 3=

(B) ==

LT

(C) TH YAl
)=
(E} vl

o

#r= feu U feeredl § © HE ST R =AT AT
(1) == (A). (B). (C)
(2) === (C), (D), (E)
(3) === (B), (C), (D)
(4)  F=F4 (A), (C), (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43401]
2[Option ID=43402]

3[Option ID=43403]
4[Option ID=43404]

Sl. No.77
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Choose the right answer about Hunter colour parameter (L", 2", 5"3.

(A) o’ positive indicates redness and «° negative indicates greeness of food samples

(B) L = o indicates perfect black and r - 100 indicates perfect white color

(C) b" positive indicate yellowness and 5" negative indicate hlueness in food samples

(D) L = 0 indicate perfect white and . - 100 indicates perfect black colour

Choose the correct answer from the options given below :

(1) (A, (C)and (D)
(2) (A, (B)and (C)
(3)  (A)and (C)
(4)  (B)and (D)

(1) 1
(2) 2
(3) 3
(4) 4

th'-fi{ a—u—li Hl'ﬂ("l“ (L * oy Kk *) i:f ]\q‘a"_i;\cm HFﬂ K3l L‘iat“i-:!u.l

(A) o TATHS ACTHT FUIET & S o TOTeHe e A1 o0 BiaE @ 2l

(B) L -0 =Hial 2 IUid: Il ST L —100 #¥Idl & qoid: Tad 0

(C) b OFTEHS =2Mial & T SR 6 FOTeHe: 230l & el

(D) L -0 7I4T 2 IUid: FHE SR L —100 FEET 8 IUIE: HIeAT I

H=r fou o faweat 3 9 w8 39 &1 =99 Fifsu
(1)  %4ad (A), (C) #7 (D)

(2) @A (A), (B) FX (C)

(3)  ad (A), (C)

(4) %= (B). (D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43405]
2[Option ID=43406]

3[Option ID=43407]
4[Option ID=43408]
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Which
spices?
(A)

(B)

(C)

(D)

(E)

of the following methods are recommended for determination of moisture content of

Dean and Stark method
Oven drying method
Karl-Fischer method
Infra-red heating method

Dew point determination method

Choose the most appropriate answer from the options given below :

(1)
(2)
()
(1)
1) 1
(2) 2
(3) 3
(4) 4

TETE] B SATGAT 79 F 719 w4 fov Fefafaa § 7 ®0 = woneft £ sgen i st 2

(A)
(B)
(C)
(D)
(E)

(A), (B) only
(A), (C) only
(B), (D) only
(D). (E) only

Hr=1 fou v et 1 & = 3 W =ae Fifee

7

(1) A (A), (B)
(2) I (A), (0)
(3) Fad (B). (D)
(4)  F=a (D), (E)
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43409]
2[Option ID=43410]
3[Option ID=43411]
4[Option ID=43412]
Sl. No.79
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Homogenization of milk 1s done at 60°C because at 60°C
(A) Fat remains in liquid form

(B) Milk fouling is lower

(C) Micro organisms get Inactivated

(D) Creaming of milk i1s not affected

(E) Lipase 1s inactivated

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A). (B). (E) only
(3) (A) and (E) only
(4) All of the these

(1) 1
(2) 2
(3) 3
(4) 4

79 1 FEFE 60° Y. T AT AT 2 A6 60° T W
(A)  T91 g9 FAIE § =l 2l

(B) 3T OiEEw w4 & 2

(C) q&ﬂv4 =1 =1 THiesrg 2

(D) 39 =i ST T HE Tq= TE TS

(E)  <rsum fafsra & <mar 2

Fr= fau o foedt 1 & HE 3T w1 99 Fie
(1) == (A). (B)

(2)  *=a (A), (B). (E)

(3) == (A), (E)

(4 =i

(1) 1
2) 2
(3 3
(4) 4
1[Option ID=43413]
2[Option ID=43414]

3[Option ID=43415]
4[Option ID=43416]
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Given below are two statements : One is labelled as Assertion A and the other iz labelled as
Reason R.
Assertion (A) : Crumbliness in butter is a desirable attribute.

Reaszon (R) : It iz due to sudden chilling of butter soon after production.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
(1) 1
(2) 2
3) 3
(4) 4

#r 21 wue T o § ;v wfieeE (Assertion (A}]%F‘lﬁ%ﬁ?ﬁ%ﬁ'@ﬂ?ﬂﬁiw {(Reasons (R))
%Ef{ﬁ:

HET (A) : waE H P (Crumbliness) Eﬂ@ﬂ'ﬂﬂ'ﬂ%l

FAT (R) - Tg IeNEA F A qG ARG H A9HHE FTHE FH F4 (sudden chilling) F FE0r
]

IR weH e |, Jr9 T o faedt § @ geE 39 I H 99 iy

(1) (AR (R) 3 &= & it (R), (A) i 98 = 8

(2) (AR (R) 3H & &, T (R), (A) i wE =men 76 2
(3) (AT &, dfF (R) 76 761 8

(1) (A=A T R, @ (R) @ 2

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=43417]
2[Option ID=43418]

3[Option ID=43419]
4[Option ID=43420]
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Given below are two statements : One is labelled as Assertion A and the other iz labelled as
Reason R.

Assertion (A) : Food preservation by irradiation is termed as cold sterilization.
Reason (R) : It is because microbial destruction can be achieved without heating of the
foods.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 18 true but (R) is false

(4) (A) 18 false but (R) is true

(1)
(2)
(3)
(4)

A W N =

Fr= 21 Fea 5 T E : UE wiwe (Assertion (A)) F ¥ U fafma 2 &1 gE 35 #00 (Reasons (R))
FEIY

HATFIA (A) @ra T (Food Irradiation) gRT @rer 9iEefr =1 siffaq e ot ar = 21
F1 (R) : T safer # HEit Sie % ged g e e s R A S a2

IR HA F AT H, 5 G T EEed § H geE 39 S R =99 Hie

(1) (A) & (R)3F1 51 2 3 (R), (A) 1 78 =aw=n 2

(2) (A ¥R (R)3A =& 2, A (R), (A) #1761 = 76 2

(3)  (A) =@ 2, wifd (R) 81 &1 2
4 (A= 7 2, df (R) 7 2

~~
w
Nt
A W N =

(4)

1[Option ID=43421]
2[Option ID=43422]
3[Option ID=43423]
4[Option ID=43424]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reazon R.

Assertion (A):  During constant rate period of drving, the surface temperature of food
remains close to the wet bulb temperature.

Reason (R) : This is because water moves from the interior of the food at the same rate
as it evaporates from the surface.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

(1) 1
(2) 2
(3) 3
(4) 4

Fr= 21 #ua 5 T 2 ¢ v AfEed (Assertion (A) F ®9 § feifma 2 1 A 39F #0 (Reasons (R))
FEI :

T (A) oA (drying) #1 foom @7 % 2R, 9rsH Fi A9 * amEE @5 T09 (wet bulb)
AIIHM = ST e TEal 2l
#r (R) UGl A BT @ FAih 99 & d<l ¥ W % Odg W A+ Hl T 36 Hag °

I FIF & AT °H, 79 G T Fwed 7§ 5EE 9GS R =5 HI

(D (A) 3 (R) 3HI @& 2 R (R), (A) F1 @l =am=n &

(2)  (A) ¥R (R) A = E, S (R), (A) T 76 ==men 7@ 2
(3) (A= 2, & (R) =t 71 2

(49 (A =E 74 2, o (R) 7380 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43425]
2[Option ID=43426]
3[Option ID=43427]
4[Option ID=43428]
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Given below are two statements @ One is labelled as Assertion A and the other is labelled as
Reaszson R.

Assertion (A) : Fermentation is a sustainable method of food preservation.

Reason (R) : Fermentation process requires low energy input in processing.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of {A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) is false

(4) (4A) is false but (R) is true

(1)
(2)
(3)
(4)

A W N =

F= 31 FA fou mu § : oF sfiEed (Assertion (A) F ¥9 | faflad 2 91 390 39% FW0 (Reasons (R))
%Fﬂfﬁ:

Al (A) - TororE @ wa i v g fafy 21

F07 (R) - ferora wisn & foru = == ffaf (input) i sEvasa g6 2
IRIH FUA F A |, 9= 7w T et 7 F 58 3w W 9 it

(1) (A) ¥ (R) 31 9 & 3 (R), (A) Fi 961 =awen &

(2)  (A) ¥R (R)3H 7 &, @A (R), (A) i =t =men 7 &

(3) (M) F= R, A (R) s 2

(4)  (A) 3@ g, dfF (R) 59 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43429]
2[Option ID=43430]
3[Option ID=43431]
4[Option ID=43432]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  Good Manufacturing Practices are not essential for HACCP and ISO 22000
1mplementation.

Reason (R) : GMPs include cleaning., samitization, unidirectional flow of man and
materials. personal hvelene. good storage practices. documentation. lavout
and design ete. which facilitate implementation of HACCP and ISO 22000.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) {A) 1s true but (R) 1s false
(4) {A) 1s false but (R) is true
1) 1
(2) 2
3) 3
(4) 4

= 31 FuA fou o # © uF sfiEeE (Assertion (A) F ¥9 H faflad 2 91 390 39% FW0 (Reasons (R)
%F?:Ff{ﬁ:

FHHFaA (A) : IeaW IAEA HERW (GMP) HACCP wd [SO 22000 % F@i=ad & fau amm
@ 2l
F1 (R) GMPs 1 g%E, T==diew, =fEq i amil #1 vl var, sfFm a=,

HUEY H1 S =0, YoiEd, Yg9H, %Y (layout and design) =0fe wfder € &
HACCP & ISO 22000 % FHi=a4 i T Il 21

IHIT FUA & AAh H, 4= 20 T famedt # @ @@t ST 1 =9 Fifsw
(1) (&) 3R (R) 21 e & 3R (R), (A) i @ =men &

(2) (A 3R (R)FH 7 &, A (R), (A) i w8 =men 71 &
(3)  (A) @ g, ofA (R) 387 2

(1) (A) 35 &, A (R) 5 #

1)1
(2) 2
3) 3
(4) 4
1[Option ID=43433]
2[Option ID=43434]

3[Option ID=43435]
4[Option ID=43436]

Sl. No.85
QBID:1036060




Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  Starches with low amylose to amylopectin ratio act as good thickening
agents.
Reason (R) : Amylose form intense cross-linkages while amylopectin does not participate

in cross-linkages.
In the light of the above statements, choose the correct answer from the options given helow :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (4)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(1)
(2)
(3)
(4)

A W N =

= 21 Fo fEu T # v ATuFee (Assertion (A)) F w9 7 fafEad 7@ 1 51 38+ #E0 (Reasons (R))
FEIY :

AlTFRaa (A) FH SATSAS | SUTEANF ST AT TEE U ST Ml FA ATl TeZ &l 78w
= 2l

Fr01 (R) : HAAEATS T HIE—(eThs S 2 ©ilehd SHSAN e HiE-Toss a4+ 4 9r 8
oA 2|

ST F9T F AT °H, 9 5 T EEed § ¥ wd 3 % =537 Fifew

(1) (A & (R)5H1 o3 g ¥ (R), (A) =i ¥& =men g

(2) (A) &I (R) 2HT acF 2, wifshd (R), (A) <t a8 =arer 481 2

(3)  (A) = 2, o (R) 353 2

(4)  (A) wEe 2, @f R) 79 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43437]
2[Option ID=43438]
3[Option ID=43439]
4[Option ID=43440]

Sl. No.86
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Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : Sandiness 1s ohserved in 1ce-cream at high temperature conditions

Reason (R) : Sandiness 1n ice-cream 1s caused by lactose cryztallization.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 13 correct but (R) 1s not correct
(4) (A) 13 not correct but (R) 1s correct
(1) 1
(2) 2
3 3
(4) 4

i &1 o Ty e # : vF sifeeeE (Assertion (A) % w9 # fafiaa 2 @i w0 38% FW0 (Reasons (R)
FETH :

HHEIE (A) . HASEN H 5@ (Sandiness) WATaw aaAE =i Fafa | @ 2)

FH (R) : HAEEHE H ZE07 (Sandiness) #9209 (lactose) Tsreeeiiton {crystallization) =i
998 € BT £

IRE F9 F T 4, 79 G T FEeT § 9 g9 39w I F 99 Fifa

(1) (&) s (R) 541 &t & 3t R), (A) Fi =& = 2

(2) (&) &R (R) 3H1 99 7, S (R), (A) F F&l =amen 761 2

(3) (A= 2, afF (R) w6 7 2
(4) (A= T 2, A (R) 58 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=43441]
2[Option ID=43442]

3[Option ID=43443]
4[Option ID=43444]

Sl. No.87
QBID:1036062




Match List I wath Last IT

List I List II
Beverage/food TSS in ° Brix
(A) Squash (H 10
(B) Ready to serve (RTS) (IIy 70-75
(C) Synthetic beverage (III) 45
(D) dJelly (IV) 65

Choose the correct answer from the options given below :

(1) (A-D. B)-(1D), (C)-(II), (D)-(IV)
(2)  (A)-IID, (B)-IV), (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(ID), (C)-(IV), (D)-(I)
(4)  (A)-IID). (B)-(D). (C)-(II). (D)-(IV)
(1) 1
(2) 2

3) 3
(4) 4

gt 1 % @y g=t I =1 e Fife

T=1-1 T=t-11
U [T e TSS ( ° Brix)
(A) T O 10
(B) wE & fouw d=am (RTS) (I 70-75
(C) wfver= 7= (IIT) 45
(D) et (IV) 65

= fou e faedt § & e 3 = == i

(1) (A)-D). B)-II). (C)-(I1I), (D)-(IV)
(2) (A)-(III), (B)-(IV), (C)~(I), (D)-(1I)
(3)  (A)-(IID), (B)-(ID). (C)-IV). (D)-(I)
(4)  (A)-ID). (B)-(D). (C)-1I). (D)-(IV)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=43445]
2[Option ID=43446]




3[Option ID=43447]
4[Option ID=43448]

Sl. No.88
QBID:1036063

Match List I with List I1

List I List I1
{(4) Vitamin- C
(B) Vitamin - B12
(C) Vitamin - B6
(D) Vitamin - Bl

(I} Cyanocobalamin
(II) Thiamine

(IIT} Ascorbic acid
(IV) Pyridoxine

Choose the correct answer from the options given below :

(1) (A)-(1II), (B)-(II), (C)-(IV), (D)-(I)

(2) (A)-(1II), (B)-(IV), (C)-(I), (D)-(IL)

(3) (A)-(I1I), (B)-(I), (C)-(IV), (D)~(IT)

(4) (A)-(I), (B)-(1II), (C)-(IV), (D)-(ID)

(1) 1

(2) 2

(3) 3

(4) 4

= 1% = =t 11 1 fae fifsg

g1 -

) faafim—d (I) EEAEEEAET
(B) faafim-sfi 12 (In) fermfim
(C) faafim-sfi 6 (IIT) TEhifereh 310
(D) faafim-=i 1 (IV) fafrsifem

Hr feu mu famredi § 9 = I = == Fifs

(1) (A)-(IIL), (B)-(IT), (C)-(IV), (D)-(I)
(2) (A)-(II), (B)-(IV), (Cy-(I), (D)-(1D)
(3) (A)-(IIL), (B)-(I), (C)-(IV), (I)-(IT)
(4) (A)-(I), (B)-(I11), (C)-(IV), (D)-(IL)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43449]
2[Option ID=43450]
3[Option ID=43451]
4[Option ID=43452]

Sl. No.89
QBID:1036064




Match List I with Last I

Last I List IT
(A) Newtonian () Tomato ketchup
(B) Bingham plastic (IT) Honey
(C) Pseudoplastic (III) Mayonnaise
(D) Dalatant (IV) Water

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(IV), (C)~(1LI). (D)-(II)
(2) (A)-(IV), (B)-(I), (C)-(III), (D)-(II)
(3) (A)-(IV), (B)-(IID), (C)-(D), (D)-(II)
(4) (A)-(IV), (B)-(II), (C)-(I1I), (D)-(I)
(1) 1
(2) 2
(3) 3
(4) 4

=t 1% 1y gt 11 =1 faem Fif

-1 -1
(A) =gziw= (Newtonian) I) =ae F=d

(B) f@im =mfz=* (Bingham plastic) (II) ===
(C) @=q =MfieF (Pseudoplastic) (III) ==
(D) fa=Frft (Dilatant) (IV) ==

= f5u U faehedt 8 & Ot 3T %1 =999 Fife

D @-D. B)-AV). (C)-1D). (D)-(ID)
(2)  (A)-0V), B)-D), (C)-(IID), (D)-(IT)
3  @)-AV), (B)-1). (C)-@). (D)-I)
4 (A)-IV), (B)-IL), (C)-(I1I), (D)-(I)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43453]
2[Option ID=43454]

3[Option ID=43455]
4[Option ID=43456]

Sl. No.90
QBID:1036065




Match List I with List I1

Last I Last I1
(A) Cereal based products () Frankfurter
(B) Sugar based products (II) Margarine
(C) Meat based products (IIT) Pasta

(D) Fat based products (IV) Liguorice/Licorice

Choose the correct answer from the options given below :

(1) (A)-(I1D), (B)-(IV), (C)-(D). (D)-(IT)
(2) (A)-(I1D), (B)-I), (C)-(IV), (D)-(I)
(3) (A)-(IID), (B)-(D), (C)-(1D), (D)-(IV)
(4) (A)-(IV), (B)-(I1D), (C)-(1), (D)-(1D)

(1)
(2)
(3)
(4)

T 1% @19 = 11 =1 faam fifg

i1 T-11
(A)  ¥9 T sEfE 3w (I) Theahex diEw
(B) ST W FTETiE I (I1) =r=iE
(C) 18 W aAgriE 3098 (IIT) 9r=a
(D) =& W SIiE 3eq7g (IV) ferhita

A W N =

dr feu mu fredi § 9 = I = == Fifs

(1) (A)-(IID), (B)-(IV), (C)-(I), (D)-(1L)
2) (A)-(I11), (B)-(1D), (C)-(IV), (D)-(I)
3) (A)-(I11), (B)-(1), (C)-(II), (D)-(IV)
(4) (A)-(IV), (B)-(IID), (C)-(D), (D)-(IT)

— =

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43457]
2[Option ID=43458]

3[Option ID=43459]
4[Option ID=43460]

Sl. No.91
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Match List I with List IT :

List I List I1
(A) Hard flour (Il Cakes
(B) Soft flour (II) Pasta
(C) Durum flour (IIT) Biscuits
(D) All purpose flour (IV) Bread

Choose the correct answer from the options given below :

(1) (A)-(IIL), (B)-(I), (C)-(IV), (D)-(IL)
(2) (A)-(IV), (B)-(1I). (C)-(D), (D)-(I1I)
(3) (A)-(IV), (B)-(1IT), (C)-(IL), (D)-(I)
(4) (A)-(1), (B)-(IT), (C)-(I1I), (D)-(IV)
(1) 1
(2) 2
(3) 3
4) 4
11 % & 1 -1 farerm hifsm
1 gI-IT
(A) B #= M *=
(B) = e (I
(C) 3gm Fe (IT) o
(D) &E WA e (IV) =aerid
#= feu mu fawredi § 9 =6 I = = Fife
(1) (A)-(I1L), (B)-(I), (C)-(IV), (I)-(1T)
(2) (A)-(IV), (B)-(1I), (C)-«(I), (D)-(111)
(3) (A)-(IV), (B)-(I1I), (C)-(IT), (D)-(T)
(4) (A)-(D), (B)-(ID), (C)-(I1I), (D)-(IV)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43461]
2[Option ID=43462]
3[Option ID=43463]
4[Option ID=43464]

Sl. No.92
QBID:1036067




Matech List I with List 11 :

List I List II
(A) Thermophilic Microorganism ()  Minimum < 0 - 5 °C Optimum 20 - 30 ° C
(B) Mesophilic Microorganism (II) Minimum <o - 5 °C Optimum 12 18 °*C

(C) Psychrophilic Microorganism (III) Minimum 30 - 40 °C Optimum 55 - 65 ® C

(D) Psychrotrophic Microorganism  (IV) Minimum 5 - 10 °C Optimum a0 - 40 ° C

Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(IT), (C)-(11I), (D)-(IV)
(2)  (A)-IID, (B)-(D), (C)-(IV), (D)-(1T)
(3) (A)-(III), (B)-(IV), (C)-(1I), D)-(D)
(1) (A)-(III), (B)-(II), (C)-(IV), (D)-(D)

(1) 1

(2) 2

(3) 3

(4) 4

-1 % | 6 ge-11 firerm it

Gicia| T#-11

(A) Tl gam < (I) =™ <o0-5° "
a9 20 - 30 © T,

(B) weRriE gww i () =" <0 - 5° .
=0 12 - 18 ° ®I.

(C) Fr=amfm gam = (IIT) =FEa" 30 - 40 ° HI.

=9 56 - 65 ° .
(D) wEFETEs geq S (IV) =9 5 - 10 ° &,
T=AH 30 - 40 ° H.

= feu mu fa=edi § 9 w6 I = =EA Fife

(1) (A)-(D), (B)-(1I), (C)-(I1L), (D)-(IV)
(2) (A)-(I1D), (B)-(D), (C)-(IV). (D)-(1I)
(3)  (A)-IID, (B)-(IV), (C)-(1D), (D)-(I)
(4) (A)-(II), (B)-(IT), (C)-(IV), (D)-()

1) 1
2) 2
3) 3
(4) 4
1[Option ID=43465]
2[Option ID=43466]

3[Option ID=43467]
4[Option ID=43468]

Sl. No.93
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Match List I with List IT :

(A)
(B)
(C)

(D)

List I
Farinograph
Extensograph

List IT
(I}  Gluten, demagedstarch, pentosam content

(II) Enzyme activity and Viscosity analysis

Solvent retention capacity (III) Resistance to extension and elasticity of

Amylograph

dough

(IV) Water absorption and mixing requirements
for dough development

Choose the correct answer from the options given below :

(1)
2)
3
(4

—

)
)
(1)
(2)

(3)
(4)

A W N =

(A)-(IV), (B)-(D), (C)-(I1D), (D)-(1D)
(A)-(IV), (B)-(IID), (C)-(1), (D)-(IT)
(A)-(IV), (B)-(II), (C)-(I1I), M)-(D)
(A)-(ID), (B)-(D), (C)-(I11), (D)-(IV)

=15 w9 = w11 faem ifsw -

(A)
(B)
(©)
(D)

-1
ETiciod
T
T afeumo smm
i

11
() 7eeA, @fea g, F=mee i qm=
(1) tm wfafafy o vama v
(IIT) 4 = % Fream @ oo % for wfay

(IV) 3¢ # To94 & o & s=wmew a9 35 fHam
i sETEHa

drar feu mu fawedi 9 9 g6 3 =1 =9 Fifo

(1)
(2)
(3)
(4)

1) 1
(2) 2
(3) 3
(4) 4

(A)-(IV), (B)-(D), (C)-(I1D), (D)-(IT)
(A)-(IV), (B)-(IID), (C)-(I), (D)-(IT)
(A)-(IV), (B)-(10), (C)-(I1D), (D)-(I)
(A)-(ID), (B)-(I), (C)-(I1D), (D)-(IV)

1[Option ID=43469]
2[Option ID=43470]
3[Option ID=43471]
4[Option ID=43472]

Sl. No.94
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Specify the correct sequence of steps during bread processing
(A) weighing and mixing

(B) shaping

(C) kneading

(D)  final proofing and haking

(E) proofing

Choose the correct answer from the options given below :

(1) (A). (B), (C). (D), (E)
(2)  (B). (&), (E), (D), (C)
(3) (), (O), (E), (B), (D)

(4)  (B), (D). (E), (A), (C)

(1)
(2)
(3)
(4)

A W N =

SACAE T % WA F 0 wE e TEEnn

(A)  dteEr A ey s
(B)  HATFR &

(C) e

(D) | e S =
(E) 9Fn

J=1 v v faeeT O 8 9@ 3 % =9 Fifeu

(1) (A), (B). (C), (D). (E)
(2) (B), (A), (E), (D), (C)
(3) (&), (C), (E), (B), (D)
(4) (B), (D), (E), (A), (C)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43473]

2[Option ID=43474]

3[Option ID=43475]
4[Option ID=43476]

Sl. No.95
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Specify the correct order of events in implementation of HACCP.

(A) conduct a hazard analysis
(B) corrective action

(C) verification

(I establish eritical limits
(E) validation

Choose the correct answer from the options given below :

[

(

(
3
(4

)
)

8]

)
)
(1) 1
(2) 2

(3) 3
(4) 4

(B), (4), (D), (E), (C

(A). (D), (C), (B), (E

(A). (D), (B), (C), (E
(

)
)
)
(B). (C), (A), (E), (D)

HACCP = sEif=m ® =% foru F=feifiaa = = a8 e 8 "

(A)  ifiam fergemor &
(B) =y e
(C)  HemH
(D)  shifees w7 T
(E) A=
Fre o mu foepet | & wE I 99 i
(1) (B), (A), (D), (E), (C)
(2) (A), (D), (C), (B), (E)
(3) (A), (D), (B), (C). (E)
(4) (B), (0), (A). (E), (D)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=43477]
2[Option ID=43478]
3[Option ID=43479]
4[Option ID=43480]

Sl. No.96
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Arrange the order of events during pickle produetion

(A) Washing, size reduction

(B) Pickling (salt/vinegar/oil/combination)
(C) Brining

(D) Packaging

(E) Addition of preservative

Choose the correct answer from the options given below :
(1) (A). (C), (B), (E), (D)
(2) (A), (B), (C), (D), (E)
(3) (D), (B), (C), (A), (E)
(4) (E). (B), (C). (D), (A)
1) 1
(2) 2
(3) 3
4) 4
=R % INEA 2 Fefetad = w98 gEen 9 o
(&) g, R e
(B) MR =M1 (A9 forert /ae1 /oa =)
(C) <=9 SeArE
(D) S
(E)  doimsms e

Frr fau mu faekei | @ A I W 999 i
(1) (A), (C), (B), (E), (D)
(2) (A), (B), (C), (D), (E)
(3) (D). (B). (C). (&), (E)
(4) (E). (B), (C), (D). (&)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43481]

2[Option ID=43482]

3[Option ID=43483]
4[Option ID=43484]

Sl. No.97
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Choose the correct order of events during tomato ketchup processing.

(A)
(B)
(C)
(D)
(E)

cooling and storage

hot filling into bottles (82 — 88°C)
checking for TSS

tomato juice or pulp (straining)

concentration, adding spices and sugars

Choose the correct answer from the options given below :

(1)

(4)

(1) 1
(2) 2
3) 3
(4) 4

(A), (B), (C), (D), (E)
(B). (A), (O), (D), (E)
(D), (E), (C), (B), (A)
(&), (C), (D), (E), (B)

ZHTEL =Y S Sl UfshaT Heiad Heteiigd =0 = 8 WA § ToRau|

(A)
(B)
(C)
(D)
(E)

TSN FAT AT GSHAT]
et O T FAT (82°-88° T )
TSS =it ==

2T 1 T I1 7 (JAT)

Fr=r f5u o faeeT § & 9@ s =99 Fifeu

(1)

2)

(3)
(4)
(1) 1
(2) 2

3) 3
(4) 4

(A), (B). (C), (D), (E)
(B), (A), (C), (D), (E)
(D). (E). (C), (B). (A)
(A), (C), (D), (E), (B)

1[Option ID=43485]
2[Option ID=43486]
3[Option ID=43487]
4[Option ID=43488]

Sl. No.98
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Specify the correct order of events during surimi processing
(A) Mincing

(B) Leaching and straining

(C) Fish heading and gutting

(D) Packaging and cold storage

(E) Mixing with cryoprotectants, forming

Choose the correct answer from the options given below :

(1) (A (B), (C), (D), (E)
(2 (B, (C), (D) (A), (B)
3y (C), (A), (B). (E), (D)
(4)  (B), (A), (D), (E), (C)

(1)
(2)
(3)
(4)

A W N =

! THEFT FHIEE % A & AT 0 S Hel e aasl
&) TFS-ZFS F

(B) Famem s e

(C)  woet = for srem #=n i wig Fewmemn

(D)  RfEm s sfte e

()  Tomaam ofaesi & am faem, sfmom

= fou o et & & @ 3O 1 =9 i
(1) (A), (B), (C), (D), (E)
(2) (E), (C), (D). (A), (B)
(3) (C). (A), (B), (E), (D)
(4) (B), (A), (D), (E), (C)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43489]

2[Option ID=43490]

3[Option ID=43491]
4[Option ID=43492]

Sl. No.99
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Specify the order of events in jelly processing

{A)  Judging of end point

(B) Boiling fruits with water

(C) Filling hot in clean sterilized bottles
(D) Washing

(E) Straining, sugar addition and heating

Choose the correct answer from the options given below :

(1) (A), (B), (E), (C), (D)

(2) (D), (B), (E), (A), (C)

(3) (A), (B), (C), (D), (E)

(4) (D), (B), (A), (E). (C)
(1)
(2)
3)
4)

it wiRa H AiEe # w0 9Hu)
(A) o fag = ol

(B) el &I SieT o E1Y ST

H W N =

(C) = T3 daa o T 9T

-

D) &

(E) =191, S/h0 2ol & 919 2

Jr= Zv o et O & wd 39 % =99 Fifeu
() (A, B). (B). (C) 5w (D)
(2) (D). B E), (A) ()
(3 (A, (B). (0), (D) = (E)
(4 (D). (B), (A), (E) = (C)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=43493]
2[Option ID=43494]
3[Option ID=43495]
4[Option ID=43496]

Sl. No.100
QBID:1036075




Arrange the order of events taking place during poultry processing

(A) Sealding and defeathering

(B) Singeing and washing

(C) Evisceration

(D Stunning and bleeding

(E) Chilling, draining and storage

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)
(2) (D), (B), (C), (E), (A)
(3) (D), (A), (B), (C), (E)
(4) (D), (E), (C), (B), (A)
1) 1
(2) 2
(3) 3
(4) 4

Tiegl T & 00 B4 arelt BHast 1 58 6 § omet

(A) 7@ ZE AR TE EE

(B)  gerEMl SR g

(C) e

(D) e fosm =i waeEm
(E)  gasfiod, vame iR ssmm

#= fow o et # | | I #1994 I
(1) =& (A), (B), (C). (D), (E)
(2)  %a=a (D), (B), (C), (B), (4)
(3) == (D), (A). (B), (0), (E)
(4)  F=a (D), (E). (C), (B), (A)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=43497]
2[Option ID=43498]
3[Option ID=43499]
4[Option ID=43500]




